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CHILD DEVELOPMENT AND PEDAGOGY IGHTMAIE 

Direction: Answer the following questions (Q. Nos. 1 to 30) by selecting the e correct/nost appropriate options 
n progressive education children are perceived as : (1 
(2) 
(3) 

2) 

(4) Vulnerable and in need of protection 
(1) HTH 3t 3HTÍaa 

(1) 
(2) 
(3) 

Feedback to the students in a classroom is most effective when: 

(4) 

(1) 
(2 

(3) 
(4) 

(1) 
(2) 

Innocent and 

(3) 
(4) 

dependent 
Compliant and capable of only consuming knowledge Knowledgeable and meaning-makers 

(1) 

Assertion (A) : During adolescence the pressures to conform to gender expectations and follow 

(2) 

PART -|/-I 

Reason (R) 
Choose the correct option. 

(3) 

It assigns comparative ranks to the students. It occurs during as well as after the learning activity. It focuses on what the child cannot do rather than what they can do. It centres around tests and exams at the end of the year. 

aIUT (R) : 

conventions of feminity or masculinity increases. Gender and gender roles are determined biologically. 
Both (A) and (R) are true and (R) is the correct explanation of (A). Both (A) and (R) are true but (R) is not the correct explanation of (A). (A) is true but (R) is false. 
Both (A) and (R) are false. 

(A) (R) Ai 4 sir (A) (R) HEI A F 

(4) (A) sr (R) A 
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4 

5. 

6. 

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished 
singers, and they send her for classes for voice training after school. Her capabiies are nfost likely 
to be the result of an interaction between: 

(1) growth and maturation 

(3)) heredity and environment 

(1) gf s vfrrgaI 

(3) 

(1) 

(3) 

(1) 

Sensitive periods are those time periods during which certain 
for course of 'normal' development. 

(1) 

(2) 

(3) aruis Ar5 

(3) 

rei sir aaU 

(4) 

genetic predispositions 

(3) 

environmental factors 

3fya RE 

(2) 

(4) 

(2) 

P-II N 

nutrition and discipline 

In order to develop critical thinking among students a teacher should : 

gender identity and genetic make-up 

(2) ethnic factors 

(2 

(4) hereaty factors 

ask only those questions which carry single answers. 

discourage the students from asking doubts and questions. 
give questions that involve inferences and explanations. 

avoid questions which need inference and analysis, 

3 

are especially important 
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A teacher asks herself -"How can I provide experiences that require students to classify different 
types of objects in the ernviYonment and analyse their classification schemes ?" Which intelligence 
is she trying to promote in students? 
(1) Linguistic Intelligence 
(3) Naturalistic Intelligence 

(1) MrAI gsHI 
(3) pfr# gfsHa 

(1) 
(2) 
(3) 

How does setting mastery goals impact a student s motivation and views of ability 

(4) 

(1) 

(2) 
(3) 

(4) 

(1) 
(2) 
(3) 
(4) 

(1) 

(2) 

Rama is a teacher who js implementing Vygotsky's theory in her classroom and she assigns her 
students to work in groups to complete a challenging task. During the task, one student struggles 
to understand a key concept. What would be the most effective way for Rama to help this 
student? 

(3) 

(2) 

(4) 

(4) 
Inter-personal Intelligence 
Bodily- Kinesthetics Intelligence 

(2) sta�ufares qfsui 
(4) IriG-TfrTTei gfsHal 

It often implies enhanced intrinsic motivation and belief in the entity view of ability. 
It often implies enhanced intrinsic motivation and belief in the incremental view of ability. 
It often implies enhanced extrinsic motivation and belief in the entity view of ability. 

It often implies enhanced extrinsic motivation and belief in the incremental view of ability. 

P-II II 

Provide the student with the answer to the problem so the group can move on. 
Encourage the student to try to solve the problem on her own. 
Assign a different task to the student that is better suited to her abilities. 
Work through the problem with the student and providing guidance and feedback as needed 
while involving other group members. 
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10. Assertion (A) : Teachers should encourage debates, discussions and collaborations among 
students. 

11. 

Reason (R) : 

Choose the correct option. 

(1) Both (A) and (R) are true and-(R) is the correct explanation of (A). 

(2) 
(3) 

(4) 

(1) 
(2) 

hUT (R) : 

(3) 

Both (A) and (R) are true but (R) is not the correct explanation of (A). 
(A) is true but (R) is false. 

P-II 

Knowledge producion is an inactive process and engagement in group activities 
hinders meaningful Jearning. 

Both (A) and (R) are false. 

(A) st (R) 

(3) 

(A) 3r (R) 

(4) (A) r (R) i eA 

(1) fa frAIE 

0 H¥ 

(A) HEI t Afa7 (R) ITA t 
0 HT 

(3) Psychosocial development 

HIE fAArA 

Intentional 

(1) (1), (iv) 

(1) (1), (iv) 

Change and stability in emotions, petsonality and social relationships together constitute: 

(1) Personality development 

st (A) 
fa (A) 

(ü) 

(2) 

(R) H¥ 

O 

(R) HEI 

O1 (2) 

Adaptive 

12. Which of the following correctly describes 'culturally responsive teaching' to cater to diverse groups 
of students ? 

(1), (tO 

(4) 

(2) 

(4) 

| GtdI 

Emotional development 

T aI tI 

Cognitive development 

(i) 
(3) 

5 

Differentiated 

(),(ii). (ii) 

(ii) fafea 

(3) ), (i), (ii) 

(iv) Standardized 

(4) 

(iv) 
(4) 

), (i), (ii), (iv) 

Ta 

), (ii), (üi), (iv) 



13. Assertion (A) : Schools should funcion within frameworks which assess the finished product 

and learning outcomes 

P-II 

Reason (R) : 

Choose the correct option. 

(1) Both (A) and (R) are true and (®)is the correct explanation of (A). 

(2) 

(3) 

(4) Both (A) and (R) are false. 

2) 

(3) 

(1) (A) sr (R) i H t 

(2) 

Learning is tightly sequential and hierarchical. 

(3) 

(4) 

Both (A) and (R) are true but (R)is, not the correct explanation of (A). 

hT(UT (R): 

(4) (A) 3r (R) -i Tera 

(1) 

(A) is true but (R) is false. 

(2) 

14. According to Lev Vygotsky what is the relationship between language and thought ? 

(3) 

(4 

(1) Language does not shape thought 

(A) 3t (R) A0 H Gft (A) (R) HE rN T¾È AAII 

(A) HÃT t fa (R) Tea 

r (A) # (RJ HE HG GItI 
980 

Thought shapes language 

Language and thought are independent of each other 

Language and thought are complex interrelated processes of development 
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15. Which of the following is a correctly matched pair ? 

16 

17. 

(1) 

(2 

(3) 
(4) 

(1) 

(2) 

(4) 

(1) 

Which of the following hinders the participation of students with visual impairment in 

classroom 

(3 

(2) printed textbooks and notes 

Criterion - referenced assessment : includes mastery of specific topics 
Norm - references assessment: compares performance to that of peers 

(1) 

Formative assessment : determining what the students can do before and after the class 

Summative assessment: involves paper - pencil tests as well as detailed accounts of non 
written behaviours 

(2) 

(4) tactile models of graphic materials 

(3) 

electronically formatted lecture transcriptions 

Which nethod did Lawrence Kohlberg used to study moral development of children ? 

Quantitative research approach 

(1 

(2) 

raised-line drawings and maps 

Posing moral dilemmas to children and analyzing responses 

Conducting observations of children during play 

(4) Experimental method 

(4) rtfr fafu 
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18. Constructivist teaching leads to 
(1) discovery 

P-II 

(1Y -3HUIfa 

(2) 

(3) 

19. Students struggling with dyslexia can be taught to read : 

(1) 

(1) Through systematic phonological training. 

(2) 

(4 

(2) meaningless 

(2) 

(2) efH 

(4) Through association method of conditioning. 

learning by students. 

(1) 

(3) 

(2y 

(3) 

By giving long and complex passages. 

20. Jean Piaget's theory of cognitive development implicates that : 

(3) 

(4) 

By providing higher grade level reading texts. 

rote 

(1) Behaviour should be conditioned using rewards and punishments. 
Concepts should be taught in a sequence of complex to simple. 

(3) Curriculum should be designed keeping children's age-group and stage in mind. 
(4) Focus of teaching should be the outcome of the activity instead of the process of thinking. 

(4) receptive 

(4) TEUryita 
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21. 

22 

23. 

You are a teacher who wants to help your students develop metacognitive skills. Which of the 
following strategies is most likely to foster this type of thinking ? 

Giving students marks instead of qualitative feedback on their performance. 
(2) Encouraging students to reflect on their own learning and thinking processes. 

Providing students with summarised notes for assignments. 
Assigning homework that requires memorization and recall. 

(1) 

(3) 
(4) 

(2 

Which of the following statement is correct about "Autism'? 

All autistic people have at least one exceptional skill. 

Autism is a neuro-developmental disorder. 
(1) 

(2) 
(3) 
(4) 

(1 

(2) 

(3) 

(6) 

A key commonality in Piaget and Vygotsky's theories is : 

(1) 
(2) 
(3) 
(4) 

(1) 

(2 

Autism is caused solely by environmental factors. 

Autism can be cured and improves with age. 

(3) 

Their views of relationship between language and thought. 

Focus on stage-like progression in children's development. 

Involvement and engagement of children in their own learning. 

The role of culture in the cognitive processes. 

P-II |l 
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24. ASsertion (A) : Teachers should respect the individual differences among learners and adapt their teaching to cater to needs of all students. 
Reason (R) : 

Choose the correct option. 
(1) 

(2) 

(3) 

(4) 

Collaborations, group works and interactions among students should be avoIded while teaching a class of diverse learners. 

(2 

Both (A) and (R) are true and (R) is the correct explanation of (A). 
Both (A) and (R) are true but (R) is not the correct explanation of (A). 

hI{UT (R) : 

(A) is true but (R) is false. 

Both (A) and (R) are false. 

(1) (A) 3¦R (R) 0 Hat 3r (A) # (R) H GARGA HITI 

(3) (A) Hâ Mhi (R) TICTdI 

(1) 

(4) (A) 3r (R) 0 TeTa 

25. Which learning strategy involves children teaching others what they have learned ? 

(1) Conditioned learning 

(3) Expository teaching, 

(34 OATE fIA 

(2) Rote learning 

(4) Reciprocal teaching 

(2) eh ÍrGI 

(4) Kfr frU 
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Reason (R) : 

Choose the correct option. 

(2 

(1) Both (A) and (R) are true and (R) is the corfeh explanation of (A). 

Both (A) and (R) are true but (R) is not the dortect explanation of (A). 

(3) (A) is true but (R) is false. 

hRUT (R) : 

discouraged and 'shame' is encouraged. 

(4) Both (A) and (R) are false. 

Emotions are subjective and do hétplay any role in learning. 

(1) (A) 3r (R) i HI 3ÂN (A) (R) TE KAIA| Hati 

(3) (A) Hãt af (R) CTd 

(1) 

(2 

~so$4581 

27. According to Jean Piaget how are children different from adults ? 

Children are dependent on adults while adults are independent. 

Adults are much more knowledgeable than children. 

(3 

(3) 

(4Y 

Children's thinking is qualitatively different from that of adults. 

(4) Children's thinking is quantilatively different fromn that of adults. 

$8084513 

P-II L21U 

4581 
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28. Which of the following question promotes analytical thinking ? 
(1) The capital city of India is 

30. 

(2) 
(3) 
(4) 

(1) 

(2) 

(3) 
(4) 

(1) 
29. Inclusive classrooms 

(2) 
(3) 
(4) 

(3) 

(2) 

How many States are there in India ? 

Assertion (A): Teachers should give lot of opportunities to children for experimentation and discuss examples and non-examples Reason (R) : 

(3) 

What is the total population of India ? 

(4) 

Choose the correct option. 

What are the various causes of increase of population in India? 

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). 

(2) 

Recognize that every child will learn at the same rate and at the same time. 
Is an educational program offered to cater to the needs of 'special children'. Are meant to offer differentiated instructions as per individual differences. 
Aim to remove all kinds of differences amnong the children. 

(4) 
(4) 

A constructive way of dealing with misconceptions in children is to provide counter examples. 

hTUT (R): 

Both (A) and (R) are true but (R) is not the correct explanation of (A). (A) is true but (R) is false, 

98084$8 

Both (A) and (R) are false. 

(1) (A) st (R) T Hât t (A) (R) H¥ IGI II 

(A) HEt tfe (R) TA tI 
(A) t (R) Ti T 

P-II INI 12 
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